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olg 2| of 82,645m? 7| = 20,000,000
ol Sa 82,645m? 7| = 20,000,000
AlAd PR 542 (ME, ofp2HchME, 1 2 A& | 30,000,000
A= ol HEE, 7R, YED Su/ER 6,000,000
apE TWIS, EALRE J|EIARE 5,000,000
7| Ef Al Hax Al 1,000,000
a7 82,000,000
AFEFALEF 2,000,000
o5 x| 2l 20 I 5 22| A 2,000,000 5,800,000
X2 oFARKI 22| A} 1,800,000
M| Metx| o BE 2 200,000
oIx} 2 o Al olxtE 2,500,000
7| Ef Z| SAlH|, S|, M22ED S 300,000
g EFH A EZIe| 4 of & EFH 9,200,000
a7 18,000,000
5474 100,000,000




HI|ol= 40,000,000
A2\ Xt= RS, 15,000,000
A= 15,000,000
A 70,000,000

4 AVZ I R| 2 M X 2 A}
ElelXt= - 30,000,000
A 30,000,000
=Al 100,000,000
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ATZ % R = 400,000 20 x 20,000

BEZZ2I3 A= 600,000 209 x 30,000

CEZ2OY M =& 1,000,000 209 X 50,000

ZIEf O A= 1,000,000 271701, otARX] & & 1,000,000
HA| 3,000,000
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6. THolj A 2] 7Y 22 A

1) Ehoff (off &) AH| =l
ATz 72 400,000 209 x200,000(& 53])
BZz 1 600,000 203 x300,000(2 33)
CzzH 5,000,000 20 xX500,000(2 33)
JEf Zz2 O 7,000,000 AZIAH O], OFAIX| & & 1,000,000
A 20,400,000
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| . &= 20,400,000 30,000,000 35,000,000
Il o &7t 3,000,000 5,000,000 6,000,000

. o &3&0[< 17,400,000 25,000,000 29,000,000

IV, Etofd|2f o Hhate| | 9,800,000 12,900,000 15,300,000

1. elzdH] 5,800,000 5,800,000 8,000,000

2. YXt= 2,500,000 2,500,000 2,500,000

5, Al = E| 200,000 1,000,000 500,000

4. Z7tak2td| 300,000 300,000 300,000

5. 7| EtZH| 1,000,000 3,300,000 4,000,000

V. dgolY 7,600,000 12,100,000 13,700,000

V. el g 135,000 135,000 135,000

1. X[ =0l A} 135,000 135,000 135,000

XI. A& =0]< 7,465,000 11,965,000 13,565,000
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